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The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

1. " Answer the following questions : 1x10=10

oY SRR el ¢

(@) If a matrix has 8 elements, what are
the possible orders it can have ?

AW @Bl TeTre 851 GTET AP, (9% TH©
AR 2[1 TR AQAER 2

Contd.



(b)

(@)

What is perpetual annuity ?

oz AiEw: 52

State True or False : -
79y ¢ N fea g

“In LPP, all variables may not be
positive.”

“CaR T TIPS, FHFCE! b GEE =2 €
A 17

Fill in the blank :
et 2 2f7e F41 8
f A c=
In a ratio a: b, if a> b, then it is called

inequality.
(Fill in the blank)

a ratio of

I 5 ST a: bT, a> b, (SR (5 23
SIS @ 2 |
(el 12 =79 )

4 (Sem-4/CBCS) HC2 (BMT)/G 2

(9)

()
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The nth terfn of an AP is 3n—-5. Find
the 15t term.

B NG 29fos n ©N 2ol A 3n-5|
AN 15 O AWt el 4 |

If interest is compounded half yearly,
what is the formula for finding

amount ?

I D[ET IO b= (RBIT 9l e Fganget
e vt 7ot for |

Given (7t =)
A = Amount (7@%‘{?!)

P = Principal (3E14)
r=Rate (7o 29)

n=No. of years (I=9)

Define limit of a function f(x) at x= a.

x=a% f(x) T S e W |

Contd.



2.

() Fill in the blank :

ATl o912 779l <=1

d
— (7)) =
— (TR)
where x denotes the volume of output.

T x @ Tesiife A ez

()  Write one difference between matrix and
determinant.

cﬁmwﬁ%m@ AL B |

Answer the following questions - 2x5=10

OT9 IR Oed Tl @

(@) A man spends 85% of his income. If
~ his saving is X 37:50, find his salary.

awwmam 85% 255 a7 g
37-50 B I=! 2z (989 1wy fefsr o |
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(b) If (3fr)

x+3y y| [4 -1

fes e G 0,
find the values of x and Y.
X € yI Wi Siae |

(c) Divide Rs. 52 among A, B and C in the

< TN ST
ratio -3 7

52 OFIF A, B 9% CF New %—%
o9 Sle 541 |

A=

(d) What sum of money will yield ¥ 1,407

as interest in 1% years at 14% p.a.

simple interest.

TR 14% I 0 & 1Rl e 13 e
S 1,407 51 27|

(¢) Evaluate (R #) -
Iim V1+2x - 1-3x

x—0 X W
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3. Answer the following questions : (any four) (¢) The total cost function for producing
S5x4=20 x units of a commodity
ST RCPIC BIfRH 2 B i ¢ TC:300x—10x2+—;lx3.
(@ If &F)A= [ ; —i], =[a 1 ‘ Find 'the OutpL.lt le\.rel.s at which the
7 9 ==l .; marginal cost is minimum.
and (S1¥) (A+BP = A2+ B2 | x TRF A C=ATTE, I G R o

find the value of g and b.

b i o) e
(Co aWbﬁWﬁ‘l‘ﬂw) IE=3005= 10 +3x.

Ry AT Sesivm SR 2tifers 7 Pow

(b) The cost of computer is 3 1,00,000 and
its life period is estimated to be 20 A ] T 1
years. After 20 years, the computer is .

expected to cost more by 20% over its (d A biéycle agent allows 20% discount

present cost. Find the sum to be on his marked price and makes 20%
invested every year at 5% p.a. CI for profit on his outlay. What is the market
20 years to replace this computer. price of the bicycle on which be gains
b SISO T 1,00,000 51 W B Re2e0e
@@@azowqﬁwm@zoww | & HIREE Reweid ke T e e 20%
mwzo%ﬁ%mwﬁv‘r@ﬁmzow | 22 R P=ghl MR s 20%
RS FeTi A T 2ffS urq Fe AR

WWS%W%WW‘@W?@ 3 | AW BRI TS 240 Tl 311© (1, (90T
M ’ BIRCET S 7 R e
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(e) If the pth, g, r' term of a GP are OR / ©241

X, Y, z respectively then prove that
' 5. (a) Examine the continuity of the following

G e R
function at x=3: S
B} BTG 29ifod pOF, g, 9 N FCH
X, Yy, z T @ T @ x = 3 95T G 9] TR0 SRbze! AS
S e 41 8 ¢
3 2 3 :
(O If @) z=3x>-5x"y+2y°, il KA
. 0Z 0z f(x): x_3’ lf x#3
show that (&9 ¥5f) x—+y—=3z2 ,
Y A Gl BT s
4. (a) Integrate (SFIE 1) 8 2Yo+2Yo=5
| : Ryl ;
2 f b)a Eind ==t (e »
o [ e L B nd o TR 2

: : i) y=e*logx
(ii) j(6x+8) 3%’ +8x+2 dx . ~

(b} The marginal revenue function of a @ y=x
product is MR =8+5x—x%. Find the
total revenue and th g . .
given TR= 82 \iflhen ii"gf’age 1evenues, 6. (a) Define linear programming’ and state
i b ' its limitations. 4
<51 T elifee [ep! o T 2o :
MR =8 +5x—x% | (5% 0 RiF 97 v | R e kel [Tl SIS 23R AARESIEE
siw [ o A w4t ite TR=82 Teerd 4|
W x=51 i
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T

(b)

Solve the following linear programming
problem by graphical method : 6

OoTd (IS AT P! (G AT FAl

34 ¢

Maximize (59 S 68 F41) Z = 8x + 5y

subject to (F9 ACATF) : 2x +y <500
X+ <250

x <150
x,y=20

OR / &241

(@) Two mixtures A and B contain glycerine

and water in the ratio 4:5 and 3:2
respectively. How many litres of B must
be mixed with 81 litres of A so that
resulting mixture may contain equal
quantities of glycerine and water ?

-
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.ﬁﬁﬁqAWBGTQETﬁHWWWW

T4 - 59 3 : 2181 FoR AT oice [eww

sifRses B eite aon i &6 SN 2AE
SANS A 292
() A man invested ¥52,000 on X100

shares at a discount of 2 20 paying 8%
dividend. At the end of the year he sells
the shares at a premium of 2 20.
Himd=—
(i) his annual dividend ;
(ii) the profit earned. 5
GG TR (989 52,000 G 100 Bl W=
SR 7 20 Tl (212 FT 8% TS A |
T (RO (9¢ FFEIER A A9 20 b=
wfZgge Kl 6|
(s g 511 —
(i) (969 T=F TS ;
(i) (99T IO S|
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8. (@) Solve by Cramer’s rule : 5

(GRS AT TS T 4 2

X+2y-z=3
3x-y+z=8
X+y+z=0

(b) If (If) A:[g éJ and ()

1.0 :
I=[O IJ prove that (&34 41 (¥)

(al +bA)® =a®I+3a%pA 5

OR / @41

9. (a) A contractor undertook to build a house
: in.21 days and engaged 15 men to do
the work. After 15 days he found it
necessary to engage 9 more men and
he had finished it 1 day earlier. How
many days he would have been behind
time if he had not engaged the
additional men ? 5

4 (Sem-4/CBCS) HC2 (BMT)/G 12

(b)

- go M 21 e OBt 91N <1 f=e 15

O g (1T PG | 15 7T 2112 (08 Tomites
9 T AR W [ NG AT 1 e
S A5 SR | T AR st e
T, FINCH! KA o1 2liee (7 SR 2

A man borrowed 29,000 to repay the
amount with interest of I 1,000 by
monthly instalments decreasing

successively by Z20. In how many

months was the loan repaid, if the first

instalment of ¥ 640 was paid one month

after the sum was lent ? 5

TR RFS 1,000 50 Fomz sy w11
<KL 9,000 TR <1 39 & @@ WE
Wl AR FRITS A2 20 Tl F0 BE@E
r o'a) T 4R iR 9aRE P st
%7 640 T ARy T @RE, orRE
TR R AT 45! #ifReeiy SRfeTe
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10. (@) Evaluate (i fidfy 34 - 2Ys+014=5 | I| (b) The simple interest on a sum for 3 years
: . at 4% is ¥ 303-60. Find the compound

3 : , interest on the sum for the same period
; RS el '
(i) o e | at the same rate. 5

x>0 6x° 1+ 7x2 4 4 il TR 3 T
% GBI \9
; 303:60 Bl | T3 7, 75 2w 373
(B S T | ' T4 bagfa e e < |
x .

x—>0

(b) From the 1st principle, find the

1
derivative of W S
| 1
awwwﬁf‘%’,ﬁﬁwﬁcﬁmn }
OR [ g2
11. (a) Solve (N4 F1) : 5
@, {51 5%
TSI T =10
[90 5 o)
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COMMERCE
(Honours Core)

Paper : COM-HC-4036
(Human Resource Management )
Full Marks : 80
Time : Three hours

The figures in the margin indicate
Jull marks for the questions.

Answer either in English or in Assamese.

Answer as directed : 1x10=10
o seRidt Sey fra ¢

(@) “There is no relationship between
manpower planning and professional

planning.” (State True or False)
“AT 4G AR S (ol #IRFEIE Aere
G T /8 [ (5% 7 95T [e3)

Contd.



(b)

(c)

(d)

(€

“Performance appraisal system can
always be free from personal bias.”
(State True or False)

ool S JeviEe A A JfEeTS
sipelifons &l ¥ =1 AE
(8% (F 5% [o73)

Human Resource is an important
of an organisation.

(Fill in the blank)

TR T Bt TG I STl |

(T} 32 73 )

Virtual organisation is also known as

Lt W (Fill in the blank)
SIFTaE AT _ 3fe T AW

' (30T 21 73 79)

Which one of the following is not a

fringe benefit ?

o GRRIC! s AR T
(i) Health and Safety
g O I
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|

(ii) Pension Scheme
(oA Sib
(i) Employee Security
© EheE el
(iv) Compensation

SR
(Choose the correct answer)

(o7 GeCo! iz Tl sdl)

() Which of the following is a hindrance
to effective training?

SRR (! ey AR A A 22
(i) Career planning workshop
TG AR S
(ij) Aggregate spending on tfaining is
inadequate
SRR \9oie TG o T
(i) Mentoring
oIl
(iv) Career counselling
(Choose the correct answer)
(% Geseh! IR Clered)
Contd.
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(g) Which one of the following is not a
function’ of Human Resource
Management ?

T (PIACH! SR 17 GZIAI D1 G 72w ?.
(i) ‘Planning
AR
(i) Staffing
SO Fyfee
(it)) Preparation of budget
A dEe
~ {iv) Weather forecasting

IO SHleETIT 2RI
(Choose the correct answer)

(¥ C&TD! R Clereq)

(h) Which of the following is not a limitation
of Human Resource Accounting ?

O (FICG! MR T RpieFEE el
TR ? :
(i) Opposition of trade union

w9 [FFaivad
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(i) Lack of suitable policy
Toge Aifes TSR

(i) Supply of information to investors
AR 92 @l

(iv) None of the above

G7RT I8 T
(Choose the correct answer)

(w7 GesCo! IR TAST)

(i) Which of the following is electronic

training medium ?

I i , ﬁwﬁnﬂ—m@mﬁaaﬁmﬁmmv

(i) Audio-visual medium

TR S

(i) Computer-centric medium
FHTOE- I M

(iii) Video conferencing
fefoe FAIEmER

(iv) All of the above
@9Ed APCETIEIN

(Choose the correct answer)

(u% GEIh! R Ofedn)
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() Which of the following is in correct

order ?

RS @R A T wiE?

(i) Job analysis, recruitment,
induction, selection, placement

- Y [EEd, T, S, AR, B
I -

(ii) Recruitment, selection, placement,
induction, job analysis
e, AR, O ISR, S,
R

(i) Job analysis, recruitment,

selection, placement, induction

o Reael, siee1, AR, T @IS,
(GO '

(iv) All of the above

89 GI2E@R

(Choose the correct answer)

(®% TSI R Cejed)
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2. Write very short answer : 2x5=10
s SE B Al ¢

(a) ‘Write two differences between Human
Resource Management and Human

Resource Development.

ol 76 A R
’(b) What is placement ?
FeifPeaa W 62

(c) State two importances of work-life

balance.

. TG SR 70 $Fg e 91

(d) Mention two objectives of transfer.

AETERER 70 Sl S 1 |

() What is downsizing ?

S L W 2
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Answer any four of the following :
S5x4=20

o9 [l bifE6r9 el ¢

(a) Describe in brief the role of a human

resource marnager.

AR Y SARBETRE BiRRe B 390! 4 |

(b) Distinguish between recruitment and

selection.

S O AR e AL (R |

(c) What are the requirements of a good

wage plan ?

<5l ©lF TGAI 6T ARSI &2

(d) Explain the relationship between the
employer and employee.

() Write in brief any two methods of
performance appraisal.

ﬁﬁﬁﬁﬁﬁEFmﬂﬂﬁiﬁﬁ@ﬁVEﬁ'ﬂ%ﬁﬁﬁﬁﬁﬁﬁ?ﬁi

Answer any four of the following :
10x4=40

w'ﬁawwﬁmmmﬁﬁw Teq fordf ¢

() Explain the meaning and importance
of training. Distinguish between
training and executive development.

e O Wi ey i 39 AR e
FIGARY Rt ers s e |

(i) Why is it necessary to maintain
industrial health ? What measure do
you suggest to improve the mental and
physical health of employees in a
private sector organisation ?

ot s A T T BN
i i | i 71 TR T e e e
(e) State the importance of ethics in : 3] 1R I N S IR o
human resource management. 5 7 =@ A ‘gﬁl & sl T e
SRR AR RIS TOHIER 9 Sraret < | | | o
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(i) Explain the steps involved in human ' (vii) Describe the essentials of a good
incentive plan. Why should it consist

resource planning.
of both monetary and non-monetary

a7 CIERIERR SRR - incentives ? Discuss.
(iv) What is recruitment? Explain th | aﬁw@wﬂﬁﬁwﬁﬂa@wﬁﬂ@ﬁmaw
f R fcr " ! G ;7 1; | 1| B oS BEE U SEI-RER S
4+ /=
Processes o recrultment. | @mﬁ ﬁ:—;] e B

(viii) Discuss the problems of performance
appraisal. How can performance
appraisal be made more effective ?

el YENeE DPREd R Sl
| TS R (A SR T S

S I 9o ? SR AfEErTER
a0 .

(v) Describe the importance of human
resource information system. What are

the ‘steps involved in designing human

resource information system ? Al
5+5=10
TR T O AGfed GRg I 41 | A
Ao ©2 A7 eEfed (109 Givs -
- sCEAEE & e
o MR
(vi) Explain the emerging challenges of
human resource management in the
present business environment.
AP I Bl | .
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